
INSTRUCTION MANUAL

WWW.NEOMOUNTS.COM

AFL55-800BL1
EN	

NL	

DE	

FR 

IT	

ES	

PT	

DK	

NO	

SE	

FI	

PL	

CS	

SK	

RO	

MS Hub 85" VESA adapter plate

MS Hub 85" VESA adapter

MS Hub 85" VESA Adapterplatte

Plaque d’adaptation VESA MS Hub 85"

Piastra adattamento VESA MS Hub 85"

Placa adaptadora VESA MS Hub 85"

Placa adaptadora VESA MS Hub 85"

MS Hub 85" VESA adapter

MS Hub 85" VESA adapter

MS Hub 85" VESA adapter

MS Hub 85" VESA adapterilevy

Płyta adaptera VESA MS Hub 85"

Adaptérová deska VESA MS Hub 85"

Nástavcová doska VESA MS Hub 85"

Placă adaptor VESA MS Hub 85"



PARTS

AFL55-800BL1

STEP 1

STEP 2

STEP 4

STEP 3

0-84 kg | Tool Pencil Drill Tape measure

C. (x2)A. (x1) B. (x1)

J

M

N

M

K

A

B

P-E

C

O. Washer
6,4

N. Washer 
8,4

M. Nut M6

M5
Q-A

M6
Q-B

M8
Q-C

M5x16
P-A

M5x20
P-B

M6x16
P-C

M6x25
P-D

M8x30
P-F

M8x20
P-E

J. M8x40 K. M6x16 L. M5x10

N



STEP 4 STEP 7

STEP 5 STEP 8

STEP 6

Secure bracket

Included with the
NM-HUB2LIFTBLACK and
NM-HUB2LIFTSILVER

L

K





23.9


